ERRKRDHES

ERT—IN—2IBISH—F

20215128288 (X) 6EIFR#9H

1R BEEYA:

N=FaN
/et

REEF

‘ [Xf&] 2

‘[%Eﬂﬁﬁaﬂ - S 18000 R

[xE<] 1 % 5,700,000 . 23 :2,000,000 3 . 33&:1,300,000 ™ . 43%&:770,000 M 53 :510,000 {
BERE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
—<, 0 = EHE" : -1-1- &R (ER)
1 ) | PFUI—F 4 o2 o 1.(53.3 1-1-1-1 | 38.6| 82.9 | 9 zzg;) ox %
R/ VR B:SATU-FUR TEHRS
— 3 u 2 | WERS 1:55.4 6-5-4-4 |38.2| 82.0 | 1 476 | LSRR (R®R)
217l9| =2 —507U—2 "2 i vy |8 HBL- 22
RFVTARANAN B:FvIT 4RI #HBIr7—LA
. SHEA : -3-3- BNE (ER
355 | LAF—ILART #o2 ) 1(75?:)5 3-3-3-3 |38.4|81.1| 5 (zlf; eaﬁﬁ(&}g;ﬁ#
RiTSvIIAR B:Za5TUVER [Slizte
g NS o2 | MEE= 1:56.0 6-7-7-6 |38.6| 76.8 | 2 | 480 |BAEE (FH)
s s bYyTTUSYT 55.0 @ 10 | (B =rrs
R:F—=TITUSYF B:hyFITF ERBIS
S 2 | RS 1:56.3 2-2-2-2 | 39.4| 745 | 3 526 | EREEHESE ()
5N 4 | EASYRY " 55.0 @ Ca | ) FvESIL - vRTL
R:ISVTURR BEXTULAFTAT RERS
i S 2 | FREpER 1:56.4 11-11-10-9 | 38.6 | 73.3 | 12 | 498 |P1Ii0th (RW)
6 3| Ya—dJER = A52.0 a/2) #1a) | LETLF
R:N40 B:T7TF4VFY BatiE
IRHEEE : -5-4- EAE (3E=R
715/ 6| F7UIVART [B] #o2 | B 1(75?:;1 5-5-4-4 |39.2|73.6 | 7 (5&3 eﬁﬁ*ﬂéﬁ%
R:007% B:RAFLYI—-IS5Y J—YYTr—LI
=5~)— = 2 | NIBE= 1:57.0 12-12-12-12| 38.6 | 68.0 | 11 458 | =2AE (FER)
glglp 75>v=a —74 " 55.0 G 1/2) 6 | @ /—2ELT
R:5= B:I #REHt /—REILX
4t 2 $‘U.|§LH: 1:57.2 9-9-9-9 [39.7| 67.2 | 8 468 | LR (FR)
9 7 ILS—)b (1 1/4) (+4) (Hi)ﬁdu—‘/j?—b
R:€r/07o04 B:ILYV B HEEGTSHINRT RS
4 2 | FIFtER 1:57.3 9-10-11-11 [ 39.3 | 66.0 | 6 456 | AEIER (RR)
1017110 JAREITRTLUR 55.0 (3/4) 4 | B EvILYRIP—L
RIAYVeAY YV yII— NIERNTP—L
s t 2 | BERR 1:58.1 8-8-7-6 |40.7| 60.9 | 4 474 | TFRE RH)
1nl81|Aby—22 g 55.0 ©) -6) BEAH LD
Rib—trS5— BNYI— HEERNS
s ue BHED 3 -3-4- ARE (ER)
120111 ®OAALIaITAHY 4 2 *54.0L,\ 1.(579).2 3-3-4-8 | 42.0| 54.2 | 10 (5_1‘3 s
A:The Grey Gatsby £:Moon Giant Mr Patrick Chedev
[ BN
Enty) 51.5-38.6
NOYFA L [ 13.0-11.0-13.3-13.2-13.3-12.9-12.9-12.4-13.3
@ 1—F—&EBIE(
13—3— (x2,4) (1,5)6(8,9)11-(7,10)-3-12
20—F— 2,4(1,5) (6,9)8,11,7,10,3-12
30—7— 2,4,5(1,6,9) (8,11)7,3,10-12
43— — (x2,4)5(6,9) (8,11)1(7,3)10,12
[ B/N-S
B s 2 4,330 AR 2-9 1,580M3 e B 2-7 5,630 3EE 2-5-9 13,620/
BB 2 670 2-5 4,820M 5 & 2-9 5,990H 3EE 2-9-5 118,820M
9 110/ 5-9 4904 58 2-9 17,520/
5 270M
ARBICOVTIRIUTERERRDBDZE, THEEEZETVL




